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QUESTION 1

Your company operates a decentralized purchasing model for computer equipment. Individual departments or groups
make their own selections as long as they stay within budget. What is the best way to influence decisions towards a
greener workplace when purchasing computer equipment?

A. Arrange a meeting with the IT department to show them a list of green vendors.

B. Establish centralized purchasing so that the company as a whole goes green.

C. Focus on education and persuasion of the individual departments or groups to ensure greener purchasing.

Correct Answer: C

QUESTION 2

Using too much lighting is of course raising the energy bill unnecessarily. What is another important human reason for
not applying too much lighting?

A. It takes too long to switch them all on and off.
B. Too much lighting can irritate people on a physiological level.
C. Too much lighting generates more heat.

Correct Answer: B

QUESTION 3

The paper manufacturer you buy paper from works with The Forest Stewardship Council. What does this mean?
A. The paper aligns with responsible forest use.

B. The paper is only made of new fiber from trees.

C. 50% of the paper\\'s content is recycled.

D. 100% of the paper\\'s content is recycled.

Correct Answer: A

QUESTION 4
Which puts IT in an excellent position to contribute to a sustainable world?
A. IT is not a big consumer of electricity.

B. IT does not create a lot of waste.
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C. IT can help other industries to work more efficiently.

Correct Answer: C

QUESTION 5

What is true about screen savers?

A. Screen savers cause a computer to use more energy than switching off the monitor.

B. Screen savers save on energy by putting the monitor in sleep state.

C. Screen savers using a bright, colored background use the same amount of energy as with black backgrounds.

Correct Answer: A
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